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MAXIMUM MARKS: 80 _ 80 = A

NOTE: Write same question number -f_t’pﬂgﬂ;‘_{._:’lfﬂé Z-,JJ/:‘SZZJ:I/:UV&:{QKL}!E Y
and its part number on answer book, as given in the question paper.

SECTION-l (il.o

2. Attempt any eight parts. . 16=2x8 _E el 8 2 1
() Write down any four fields of Sociology. Ui (s ()
(i) What is meant by Sociology? ?‘¢J!/L;¢~—¢L;f/ (i)
(iii) What is meant by Sociology of Education? ; ?;_,;yg;.h--,gr/&:*" (iii)
(iv) What is meant by Science? Sl U (iv)
(v)  Write down any two characteristics of Science. _qj);f /;.:J“Lar“%;u’;jfgfu"v (v)
(vi) What is meant by Social Science? Sl At (vi)
(Vi) Who is a Parole Officer? febwed AT s (vii)
(viii) How the Sociologists contribute in ?ujLJﬂ;léJ;Jigiagl/fQ sAEEL kel (vill)
the{elds of trade and business?
(ix) What is meant by Social Interaction? sl e S0 Sbe (ix)
(x)  Write down the two important elements of social interaction. _q/'://;*’l:fr? Il @ :}}Lv (x)
(xi) What is meant by formal group? ?:‘_.;{/Lf.:—__ufd; (xi)
(xii) Write down the four examples of social group. _q&fuf (WY gu&”&;f J /‘b» (xii)
3. Attempt any eight parts. 16=2x8 ..gf{f..::-LLr‘.’Z.IJ’-.'IJTc.Jf _3/,‘Ulr‘
(i)  Describe relation of status and role. : -;J_’/(L'JQJWE/J“JKJ!'H‘L‘ 0]
(i)  Write four roles related to the status of a student. _.u.‘f’{.ua:»;bﬁg p B ‘)LJLEJ (ii)
(i) What is meant by Status? Sl e s (i)

(iv) How are folkways transferred from one generation ‘-Lgl.m}b L)fd’“'d/m:,a_f uﬁ&)u’/ oty (iv)

to another?

(V)  What is meant by Mores? el e T (v)
(vi) Define Social Sanctions. SIS F 0 (i)
(vii) Write two points on the importance of folkways. -u:“’q:,iil‘u{..:ﬁfd/qu? (Vi)
(viii) How the achievement of social control is possible? ‘-’{—cf'? LA D650 26 (il
(ix) Describe two impacts of value conflict. -Q_’.@fqu‘b'-ﬁ'»-f:fjrﬂj (ix)
(x) Write four elements of social evolution. _uf%ag,épwf.a/“u‘ (x)
(xi) Define Nomadic society. ‘ SIS fast (xi)
(xii) Write characteristics of traditional society. SIS Pl Bl (xii)

( 5.‘1...’ L:L': )
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(vii)
(viii)
(ix)
(x)
(xi)
(xii)

(xiii)

NOTE: Attemptany three questions.

2

(2)

Attempt any nine parts. 18=2x9

Define cultural uniformity.

Give two examples of cultural uniformity.
Define Cultural Difference.

Write two causes of cultural difference.
Write two types of family. by structure.
Write two functions of Family.

Define Political Institution.

Write four names of Political Institutions.
Define Caste.

Write the caste system of Hindus.

Write two merits of Caste.

Define Geographical Mobi!ify.

Define Cultural Change.

SECTION-II (.2
30=10x3

Write the fields of Sociclogy.

Explain the characteristics of Secaondary Group.

Write down the steps to attain social control.

Write the causes of cultural uniformity.

Describe the elements of social change with examples.
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Note: you have four choices for each objective type question as A, B, C and D. The choice _u_‘f.',d’}':f-.-::l}fr

]
.
R

(1) What is Sociology?

{A) Basic science u’.‘"l.—’d)‘lf!

<1 Ay

e et

(B) Social Science -3+ (C) Literature 4 (D) Social action ] .-

(M

(2) Which one is Social Science? Ul (g
(A) Urdu  suf (B) Physics % (C) Economics ={*b+ (D) Biology ST

(3) A Sociologist works as Probation Officer in: = - L'frf/_jfu%{u‘%’.:,yl,{,:uﬁ (3)
(A) Hospital S Jo (B) Prison 2 k2 (C) Court J::Jw (D) Business centers L,f-f}rf/dzl_,ukf

(4) Interaction provides base for- _.‘:J_f(ﬂ);yn_}‘u? (4)
(A) Status L £, o (B) Group &L 4,/ (C) Stratification & £ 44, .. (D) Norms .;'..[_._-. Uy

(5) Minimum number of individuals required for social action: 1‘;__:,-:,4’1,5/)!}#5!‘{?_&(}; d A (5)
(A) 4 (B) 3 (C) 2 (D) 1

(6) C.H Cooley presented the concept of- WAL LG s (6)

(A) Secondary group 51,-/{!;3(% (B) Primary group Ku/zf:_!:-': (C) In-group &/ ¥, (D) Out-group E’L;/’fﬁﬁé

(7) Minimum requirement of individuals for group is: ,c‘...:mﬁd/;l}lﬁl{‘?_;ﬁuf (7)
(A) 4 (B) 5 ()73 (D) 2

(8) Caste and sex are examples of: _u:ruijt‘}u"gsf.:f:' (8)
(A)Role Joas¢  (B) Ascribed status Jo-etls  (C) Achieved status Uos0 /P (D) Norms fLe iy

(9) An individual has status: ML Ly Wy B (9)
(A) Many =z (B) Two s (C)Onlyone {ii” (D) None &1y .

(10) Informal norms are calleq: e g (10)
(A) Mores *-.-“UV” (B) Laws /15 (C) Ethnocentrism o (D) Culture =2

(11) Negative sanctions include: e Sl (11)
(A) Medal ¢ (B) Reward (2 (C) Prize (i (D) Punishment ;-

(12) Cause of deviance is: —eadiA (12)
(A) Education r;}-i (B) Culture =3 (C) lliteracy =z (D) Laws J.f' i’

(13) Cause of value conflict is: / -ﬂf—-?’dj;’r‘il»-;" (13)
(A) Role wste§’ (B) Social change &} 2. (C) Stratification (4o (D) Norms e iy

(14)  Animal society does not include: -Quﬂﬁ!‘uﬁfa}b‘i}’ﬁf (14)
(A) Reproduction 43  (B) Food 1 (C) Life s (D) Culture =3¢

(15} Which society has maximum geographical mobility? e J@J&d{}?:ﬂ&;o*}%uﬁa}b@f (15)
(A) Rural (£, (B) Traditional (§ 1., (C) Nomadic izt (D) Sedentary 51 _

(16) Reproduction s function of: ~e- U3 A (16)
(A) Educationatl institution L}/L...f‘l)fu:uj (B) Economic institution J:_JMJ b
(C) Religious institution Jgﬂﬂcf..: (D) Family ui-)uﬁ; »

(17) Source of informal education is: )| AT I (17)
(A) School & (B) College ¢ (C) University %2y (D) Workshop (27,

‘18)  Types of social mobility are: OIS 18)
(A) 2 (B) 3 (C) 5 (D) 1

19) Cause of social change is: . ~¢-->5JJ1»F_J/'""-V (19)
(A) Caste =15 (B) Age # (C) Class ws(z (D) Education :

20) Major reason of the development of society is: -(;-._,.pdzgf J?J/"P (20)

(A) Roads (7 (B) Education &

(C) Population (547 (D) Problems (.-

47(Obj)(3)-2022(A)-5000 (MULTAN)
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Note: you have four choices for each objective type question as A, B, C and D. The choice -L{/QJ’};.;:JL-*
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Al

(1) Which society has maximum geographical mobility? e Jedls b e A mbiendfor” (1)
(A) Rural (§% (B) Traditional 3 1 (C) Nomadic J’:J-,v (D) Sedentary §1 {

(2) Reproduction is function of: b i TN ) (2)
(A) Educational institution Jz...;bfdﬂ;’ (B) Economic institution J.—;..be uﬁty
(C) Religious institution J;_Jblu’fj (D) Family Juu:t; 3

(3) Source of informal education is: ,.;.gusﬁff"iﬂﬁf (3)
(A) School J}‘; (B) College é( (C) University L;”/:.Eg’ (D) Workshop \.;lf—C.-

(4) Types of social mobility are: Bk (@)
(A) 2 (B) 3 (C) 5 (D) 1

(5) Cause of social change is: ealdidf- )
(A) Caste =13 (B) Age # (C) Class =1z (D) Education ¢

(8) Major reason of the development of society is: el didie )
(A) Roads u'f?/ (B) Education fuw (C) Population (L7 (D) Problems J/'w

(7) What is Sociology? bl (7)
(A) Basic science U L-(lt  (B) Social Sciencé o l-J/#b+  (CyLiterature s/ (D) Social action JIJ}L»A

(8) Which one is Social Science? e Syl (8)
(A) Urdu 13/ (B) Physics ° 3 (C) Economics «=L*b+ (D) Biology =l

(9) A Sociologist works as Probation Officer in: _;_D?E}.‘:’Tﬁs{;#ayy{;@? (9)
(A) Hospital & Jtxr (B) Prison U4 2 (C) Court (&=l (D) Business centers u!}7/d,'L;J-K

(10) Interaction provides base for; e L"/?TJ}J.L_&J‘@ (10)
(A) Status L. Z s (B) Group & LasS (C) Stratification & ZSzo0 (D) Norms & L tis™

(11) Minimum number of individuals required for social action: -g-ax;/}d:-')‘r‘gffg—-—-t)@;b” (11)
(A) 4 B) 3 () 2 (D) 1

(12) C.H Cooley presented the concept of: e L Ly (12)

(A) Secondary group §s./$5¢  (B) Primary group §»/5Lt  (C) In-group 6/ (D) Out-group 6.3t

(13) Minimum requirement of individuals for group is: SFBEI Yol :f/"f;fﬁ‘ -:J,—f-nj (13)
(A) 4 (B) & (C) 3 (D) 2

(14) Caste and sex are examples of: -Q_'}'L,dlf’ﬂsl:.alj (14)
(A) Role J..,.A“gb’ (B) Ascribed status J....mb'uf"ikf (C) Achieved status o_.«uu/gfi L (D) Norms Jatﬁr"‘

(15) An individual has status: e LS (15)
(A) Many = ez (B) Two s (C) Only one Lii~ (D) None &0

(16) Informal norms are called: _Q?E_wa:fur“- oE (18)
(A) Mores iy >»  (B) Laws 17 (C) Ethnocentrism «x=<* (D) Culture =3

(17) Negative sanctions include: St (D)
(A) Medal Fry (B) Reward (27 (C) Prize (! (D) Punishment |-

(18) Cause of deviance is: w4 (18)
(A) Education = (B) Culture =3¢ (C) llliteracy =iz (D) Laws o217

(19) Cause of value conflict is: —ealided  (19)
(A) Role wuaf’ (B) Social change ,,:"" J/“'lw (C) Stratification S22 (D) Norms = ™

(20) Animal society does not include: -.;_,uﬂ.zru.“aj-wlf (20)
(A) Reproduction +/7  (B) Food 1i (©) Life (D) Culture =36

47(Obj)(TT ¥ )-2022(A)-5000 (MULTAN)
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Note: you have four choices for each objective type question as A, B, C and D. The choice _qLd’)}uuw
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Minimum number of individuals required for social action:

(A) 4 (B) 3
(2) C.H Cooley presented the concept of:

(A) Secondary group Kos S o0 {B) Primary group K,,.Jf;;'g.

(3) Minimum requirement of individuals for group is:
(A) 4 (B) 5
(4) Caste and sex are examples of:

il /-,*Ulr'
ce Pt LS @)
) 2 (D) 1
WEALL B (2)
D) Out-group E’u);d.;l;
_z‘“_..-.fu;bg,(ﬂjlf;ffé.iuj (3)
(e} 2 (D) 2

(C) In-group 5’”/@;!)

“Ge el ()

(A)Role Yok (B) Ascribed status Jossils  (C) Achieved status s/ b (D) Norms (= us®

(5) An individual has status:

(A) Many « =« (B) Two s
(6) Infarmal norms are called:
(A)Mores T3>  (B) Laws oI5

(7) Negative sanctions include:
(A) Medal 47

(8) Cause of deviance is:
(A) Education ,f-"7

(9) Cause of value conflict is:

(B) Reward 17
(B) Culture =
(A) Role ws¥ (B) Social change &' (56
(10) Animal society does not include:
(A) Reproduction +/¥ (B) Food 1%
(11) Which society has maximum geographical mobility?
(A) Rural (§ (B) Traditional (31,
(12) Reproduction is function of: 3
(A) Educational institution d;_ﬂ:tg.'.w
(C) Religious institution L,rc..J’Jf(_f.{:
(13) Source of informal education is:

A) School s~ (B) College é-,?
(14) Types of social mobility are:
(A) 2 (B) 3

(15) Cause of social change is:
(A) Caste =/; (B) Age
(18) Major reason of the development of society is:
(A) Roads u{/ (B) Education (J"J
(17) What is Sociology?
(A) Basic science L5l
(18) Which one is Social Science?
(A) Urdu 5.1 (B) Physics %
(19) A Sociologist works as Probation Officer in:
(A) Hospital (ks (B) Prison 4 F
(20) Interaction provides base for;
(A) Status & s (B) Group ‘;}_.-.’:u);

(C) Court n=lie

oY, LN Wy W (5)
D) None J.‘F’df
Bl Wesd  (6)
(C) Ethnocentrism == (D) Culture =3¢
SNV O i 1)
(D) Punishment 1~
—eadf (8)
(D) Laws o219
_‘T_.,xd:.ﬁpb; (9)
(C) Stratification S22 (D) Norms < i+
Doy Heldly (10)
(D) Culture =26
e 0bdis ke ML ien o (1)
(C) Nomadic (f+<6 (D) Sedentary G
el SHH  (12)
(B) Economic institution L,(z_JIJf ;f e
(D) Family Suisl

(C) Only one {ii~

(C) Prize pLli

(C) Miteracy =Aiz

(C) Life (s

e A (13)
(D) Workshop (2
rUSsae  (14)

(C) University (§s2¢

(C) 5 (D) 1
eaddedie (15
(D) Education
e 3545 (18)
(D) Problems i+
et (17)

(C) Class =#la

(C) Population (L7

(B) Social Science U*l-db+  (C) Literature .t (D) Social action J3 -

e Loyl (18)
(D) Biology =l
~e b AT ke LT (19)
(D) Business centers (1 §,L 5.6
< tAAESE (20)

(C) Economics =L b

(C) Stratification &L $zon (D) Norms & L =i

47(0bj)(¥ T IX)-2022(A)-5000 (MULTAN)
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{2 _G’LELJWJJ&@JJ‘JLJ;& ){J}fb _fmy‘?w'._dfﬁuﬁ(,}fwzfdlL/z /«bg_@ L/q:@s}bup:_..g _&)
Note: you have four choices for each objective type question as A, B,CandD. The choice -q),’;ff@ Uiy
» On bubble sheet, Use marker or pen

to fill the bubbles, Cutting or filling two or more bubbles wij| result in zero mark in that question,

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER,

(1) Minimum requirement of individuals for group is:
(A) 4 (B) 5
(2) Caste ang Sex are examples of
(A) Role (J_ai
(3) An individual has status:
(A) Many ==
(4) Informal norms are calleq:
(A) Mores Ty
(5) Negative sanctions include-
(A) Medal ;7
(6) Cause of deviance isi
(A) Education (-'-l’/
(7) Cause of vaiue conflict js:
(A) Role st (B) Social change J/”lr
(8) Animal Society does not include:
(A) Reproduction 47 (B)Food Iz
(9) Which society has maximum geographical mobility?
(A) Rural (%, (B) Traditional G las
Reproduction js function of:
(A) Educational institution (f.__, 1
(C) Religious institution u':’._zl:fd?.z
Source of informal education js:
(A) School & (B) Coliege £y
Types of sociaj mobility are:
(A) 2 (B) 3
Cause of socig| change is:
(A) Caste /; (B) Age A
14) Major reason of the development of society is;
(A) Roads (B) Education =
S) What js Sociology?
(A) Basic science u'*i—d;yé
8) Which one is Sogijal Science?
(A) Urdu 5.1 (B) Physics %
7) A Sociologist works as Probation Officer in:
(A) Hospital # Jis+ (B) Prison i 2
3) Interaction provides base for-
W Status L L _ee (g, Group &2,/

(B) Two .,
(B) Laws /15
(B) Reward 1:7

(B) Culture w3

(10)

(11)
12)

13)

) Minimum number of individuals required for social action:

(B) 3
Yo CH Cooley presented the concept of:

(B) Social Science vd S

(B) Ascribed status d/-:-v":"e.ki&f (C) Achieved status J,—»uﬁ}" & (D) Norms e vs™

(A) Secondary group b’nufjﬁc* (B) Primary group 5’,;,@’:&% (C) In-group ’o’uf;}"b (D) Out-group %JJZ:’.JG

47(01:.;)(39(*i&"ﬁr)-zozzm)-sooo (MULTAN)
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No credit will be

=1 /,‘Ufr
- .:f.u/"’;}/ﬂ/.f{);l ;;4. Lagd (1)
(C) 3 (D) 2
B e ()
~H st L L3 (3)
(C) Only one {i_; ~ (D) None 3y
LA ST (4)
(C) Ethnocentrism w...ef (D) Culture =2
L
(C) Prize i (D) Punishment I
200 (g
(C) Miteracy =45 (D) Laws 21
| J.,I-‘;j"JL-;j (7)
(C) Stratification ion (D) Norms o i3>
| USRS (g
(C) Life §z; (D) Culture =3
?;_Jtyégdgﬁ,-w&mpmu:»/‘wf (9)
(C) Nomadic (i (D) Sedentary (71 :
-6 FH (1
(B) Economic institution &_Jblf b
(D) Family J.,;Julé N
ST el (11)
(C) University oxty (D) Workshop -
IS ket (12)
(C) 5 (D) 1
addedie g3
(C) Class =iz (D) Education
B0 e (qg
(C) Population (%, (D) Problems fi.
ellelrr (15
(C) Literature _» (D) S0cia action Fi 2.
e QS (16)
(C) Economics =+ (D) Biology (-
_;_bfrs,'.éfg“:t,{ﬂ.;,gy;ubg (17)
(C) Court (=14 (D) Business centers ui‘}’T/dJ[.uK
AR (1)
(C) Stratification CA I (D) Norms &~ ..y,
R ST AT (19)
©) 2 (D) 1
_guir‘:ﬂ;_a_ﬁ@_g (20)
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